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UK Tax in Action

Mary is an employee in a factory in Bristol. She worked for 52 weeks 

of the 2015/16 tax year and earned £25,000 for the year (£480 per 

week).

Mary’s tax and National Insurance are worked out as follows.

Tax
£25,000

(£10,600) Personal Allowance

£14,400

Tax @ 20% = £2,880

As Mary gets paid weekly, the employer will take the tax and National Insurance from Mary’s 

wages each week, via the PAYE system and pay it to HMRC.  

Mary will receive approximately £386 each week after tax and NIC

                                                

                                               Alfred is a self-employed architect. He earned £55,000 during               

                                                       the 2015/16 tax year and incurred expenses of £9000 through  

                                                       running his business.

                                                           

His tax and National Insurance will be worked out as follows:

Tax
£46,000 (net profit)

(£10,600) Personal Allowance

£35,400

Tax on £31,785 @ 20% = £6,357
Tax on £3,615 @ 40% = £1,446
Total Tax = £7,803

Tax and NIC Classes 2 an 4 NIC will be paid to HMRC by Alfred through the self-assessment 

system in January 2017. 

National Insurance 

£25,000

(£8,060) Class 1 NIC Threshold

£16,940

Class 1 NIC @ 12% = £2,032.8

National Insurance 
£46,000

(£8,060) Class 4 NIC Threshold

£37,940

Class 4 NIC = £37,940 @ 9%  = £3,414.60
Class 2 NIC flat rate = 52 weeks x £2.80 = £145.60
Total NIC = £3,560.20


